dcr/de [pb/GeV]
=

=
<
[N

1072

1073

107

[EEY

Ratio to ATLAS

0.5

~t
~t

7000 GeV pp

— | I I I I I I |:
N Jetp_(pf>25 GeV) 5
- . ]
; /’ \:L‘:..._ | ;
— -
= 3
E \\'\‘;“.... E
- &, ]
- m ATLAS -
- --$3-- Herwig 7.2.1 default . |
=~ ¢ Sherpa 1.4.2 default ‘é =
| | | | | | | | | | | | |
: T T T T T | T T T T T T |:
] @, [ O P ¢ S o m
B E _______ E_ _____ EI————__E ----- ENN ..................... :’

2"d jet p. [GeV]

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


